SENC 150

Encoder Installation Manual For:
Universal horizontal mounting
Cross Feed X Axis

Cross feed Installation ... 7

* Supplied with Encoder hardware o
S

10-24 x 7/8" BHCS (2)

#10 Flat washer (2)

8-32 x 3/4" SHCS (2)

10-24 x 3/4" BHCS (2)
#10 Flat washer (2)

1/4-20 x 3/4" BHCS (2)

1/4" Flat washer (.09" thk. 2)

Reading head bracket

SENC 150 Encoder
8" or smaller

Cross feed

Mounting Information...

These are application instructions for mounting the
Cross Feed “X” axis SENC 150 encoder.

Before proceeding:

Please read the instructions completely.
Mount Z axis prior to installing the cross feed.

Clean the mounting surfaces.

Save the alignment brackets with the Encoder
Reference Manual after installation is completed.

YYVYVYY

First Steps ...
Machine

v/ Move the cross feed to its center of travel.

v/ Mark the location so that it can be re-centered
easily.

Keep the reading head centered during installation.

Encoder

v/ Unpack encoder in a safe, convenient location.

v Do not remove the reading head alignment
brackets until instructed.

Center reading head ...

Align
center

Alignment bracket (2) marks

« Slide the reading head and brackets along the scale
case until the center marks on the scale case and
reading head are aligned.

Installation Manual 385074-12

P.N. 385074-112 Ed C 1/06

Acu-Rite Companies Inc.



SENC 150

Encoder Installation Manual For: Universal horizontal
mounting Cross Feed (X Axis) Lathe

Encoder orientation ...
Reading head

g

,Q,I i

LN

= These instructions will position the encoder
assembly to the carriage and bed as shown.

Reading head Encoder assembly

bracket

Cross feed

Carriage

Cable exit ... Vinyl cable grommet

T-10 Torx screw (2) Armor cable hex crimp

= Determine the cable exit direction before installing
the encoder.

= To change the cable exit direction, remove the cover
plate and rotate the cable 180°.

Spar installation ...

8-32 x 3/4" SHCS (2)

Reading head bracket

= Attach the reading head bracket to the reading head.

= Place a shim between the reading head and the
bracket so that a gap of .030” - .060” is provided.

I———— 10-24 x 3/4" BHCS (2)

0

Spar

= Attach the encoder to the spar.

Cross feed

Carriage

Spar end
mounting hole

= Place the spar against the cross feed, and the

reading head bracket to the carriage surface.

= Mark spar end mounting hole location to the cross feed.
= Remove the assembly from the cross feed.

Align to within .010"
TIR of the axis travel

Top of spar Cross feed

< Remove the spar and bracket from the encoder.

« Drill and tap hole location for a 10-24 x 1/2” deep,
and fasten the spar at one end.

« Align the top surface of the spar to the axis travel
or cross feed top surface.

= Transfer punch the second end mounting hole, and
remove the spar.

= Drill and tap location for a 10-24 x 1/2” deep.

Align to within .010"
TIR of the axis travel

Top of spar Cross feed

10-24 x 3/4" BHCS and flat washer
= Align the top of the spar to the axis travel.
e Secure the spar in place maintaining alignment.

10-24 x 3/4" BHCS

/#10 Flat Washer
T

Attach the encoder to the spar and Sét the encoder
against the cross feed flush.

= Secure encoder in place maintaining alignment.

Installation Manual 385074-12

P.N. 385074-112 Ed C 1/06

2

Acu-Rite Companies Inc.



SENC 150

Encoder Installation Manual For: Universal horizontal
mounting Cross Feed (X Axis) Lathe

8-32 x 3/4" SHCS (2)

Reading head bracket

Transfer punch

= Return the cross feed to its center of travel, and
attach the bracket to the reading head.

= With the bracket positioned to the carriage,
transfer punch the center of the mounting slots to
the carriage.

= Remove the bracket from the reading head.

= Drill and tap the two bracket mounting hole
locations for 1/4-20 x 1/2” deep.

1/4-20 x 3/4" BHCS
& Flat washer (2)

= Attach the reading head bracket to the carriage,
and align the bracket with the reading head casting
mounting holes.

= Secure the bracket in place.

= Insert the two *8-32 x 5/8” SHCS, but do not
tighten.

*Leveling screws (3)

.03 - .18" Gap

\O

il

< A gap will exist between the reading head and
bracket, and the leveling screws must be used.

e Set each leveling screw by placing a .001” - .003”
feeler gage between the set screw and the bracket.
Adjust each screw until a slight drag is felt on the
feeler gage.

< Evenly tighten the two 8-32 SHCS to secure
the reading head in place.

*Leveling set screws (3)
= Seteach leveling screw by placing a .001 - .003” feeler
gage between the screw and reading head mounting
plate.
= Adjust each screw until a slight drag is felt on the feeler
gage.
< Evenly tighten to secure the reading head in place.

Encoder button up ...

Twist bracket
45°

e

=25
Slide brackets back
away from the

reading head and
cable

= Use allen wrench from set screw adjustment to
slide alignment brackets away from the reading
head.

= Remove alignment brackets and save for possible
future use.
= Move the axis through its full travel. Confirm that

the assembly does not interfere with the machine
movement.

<7~
N N
| ~

| —
~~

S~
-
e

~N_
1
|
|
|
|

Vv

\|//

= With both axis installations complete, route the
cables providing sufficient slack loops for machine
movement to the readout.

= Secure cables by fastening with clips or ties.

= Attach the linear encoder connectors to the readout.

= Complete the installation by following the steps in
“Checking Your Installation” section in the encoder
“Reference Manual”.

Acu-Rite Companies Inc.
One Precision Way * Jamestown, NY 14701

Installation Manual 385074-12

P.N. 385074-112 EdC 1/06




<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /SyntheticBoldness 1.00
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveEPSInfo true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputCondition ()
  /PDFXRegistryName (http://www.color.org)
  /PDFXTrapped /Unknown

  /Description <<
    /FRA <>
    /JPN <FEFF3053306e8a2d5b9a306f30019ad889e350cf5ea6753b50cf3092542b308000200050004400460020658766f830924f5c62103059308b3068304d306b4f7f75283057307e30593002537052376642306e753b8cea3092670059279650306b4fdd306430533068304c3067304d307e305930023053306e8a2d5b9a30674f5c62103057305f00200050004400460020658766f8306f0020004100630072006f0062006100740020304a30883073002000520065006100640065007200200035002e003000204ee5964d30678868793a3067304d307e30593002>
    /DEU <>
    /PTB <>
    /DAN <>
    /NLD <>
    /ESP <>
    /SUO <>
    /ITA <>
    /NOR <>
    /SVE <>
    /ENU <>
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


